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Abstract

Constitutional structures shape politicians’ behaviour and hence
policy outcomes through the different incentive schemes at work. In
this paper we analyse these mechanisms in parliamentary and presi-
dential systems. Such a comparison is carried over by analysing how
the two systems are able to select the efficient policy in presence of
asymmetric information. The constitutional structures differ in that
the policy proposal in parliamentary democracies is observable and
confidence-dependent. The main findings suggest that the parliament
responds to the incentive scheme better in presidential systems due
to less uncertainty that legislators face over their term limit. How-
ever, the parliamentary system induces the executive to behave more
efficiently due to selection and disciplining effects.
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1 Introduction

In every democracy the choice and implementation of a policy are charac-
terised by the interplay of the executive and legislative bodies. In this paper
we study how different constitutional structures, presidential and parliamen-
tary, affect the incentives of politicians in presence of asymmetric informa-
tion.

The debate over the relative merits of parliamentary and presidential
systems has been present in the economics and political science literature
for a very long time. In the second half of the past century the issue has
been dissected in many ways but still, in spite of the numbers of pages
written, we have no consensus on which system has to be preferred.

We follow the seminal works of Persson and Tabellini [2002, 2005] that
showed how institutional setups have a relevant impact in shaping economic
policies, but we take a step further and look inside the mechanism through
which new laws see the light and become effective and study how the two
systems perform in terms of efficient policy selection.

Specifically, we compare presidential versus parliamentary systems through
the following two-period setup. The government is defined by an executive
body, represented by a single player, and by a legislative body, represented
by a parliament composed of L members. At the beginning of the game each
player observes his type (i.e. policy/office-oriented). In the first period politi-
cians observe the true state of the world while voters remain uninformed. At
this point the executive proposes a policy that has to be approved by ma-
jority in the parliament. At the end of the first period also voters observe
the true state of the world, update their beliefs and then period two occurs
analogously. The first difference between the two systems is the presence
of the confidence vote as a key constitutional ingredient of the parliamen-
tary system. The main implication of the confidence requirement is that if
the policy proposed by the executive is rejected, new elections are called for
both government bodies. This allows the parliamentary system to replace
bad politicians even before the natural conclusion of the legislature; in turn
though, it makes the system also very sensitive to the incentives of legislators
who may have private agendas themselves and not act in the interest of vot-
ers. The other key difference between the two constitutional frameworks is
that in the presidential system voters observe only the implemented policy,

while in the parliamentary one they observe also the policy proposed by the



executive.

In our model the presidential system always selects the efficient policy,
therefore outperforming the parliamentary one. The force driving this result
is the perfect information of the parliament that corrects, by voting no, any
attempt at inefficient behaviour by a, possibly, office-oriented executive. The
fact that the length of the legislature does not depend on the approval of the
executive’s proposal allows the parliament to vote for the implementation
of the efficient policy regardless of the composition of the legislative body.
Even office-oriented members of the parliament vote for the efficient policy
to maximise their end-of-period reputation in the eye of the voters who, un-
like the legislators, do not observe the true state of the world and update
their beliefs about the type of politicians by observing only the implemented
policy. In a parliamentary system instead, office-oriented legislators have
a strong incentive to approve anything proposed by the executive just to
avoid early elections and stay in office until the natural end of the legisla-
ture and, as a consequence, the inefficient policy will be implemented with
positive probability. The presence of the confidence vote therefore generates
a distortion in the incentives of office-oriented legislators. On the other side
though, the confidence vote allows policy-oriented members of parliament to
replace an office-oriented executive before the legislature is over. It follows
that the quality of the proposal in the second period improves because office-
oriented governments are voted out of office more often. This is a selection
effect that improves the executive performance in the parliamentary system
in the final period with respect to the presidential one. The confidence vote
has also a disciplining effect in the first period, if the cost of implementing
the efficient policy is not too high, as the executive may propose the efficient
policy for fear of being voted against and face early elections.

On top of this, the observability of the executive’s proposal in the par-
liamentary system improves the behaviour of the executive in the second
period, when new elections are certain and the executive wants to maximise
his end-of-period reputation with voters.

In our model the positive incentives in the parliamentary system are com-
pletely offset by the perfect behaviour of the parliament in the presidential
one that is driven by the symmetric information among politicians about the
state of the world. At the end of the paper we provide a simple example

where the parliament is not perfectly informed about the state of the world



and votes according to an informative signal. In this case the presidential
system no longer achieves full efficiency, as the parliament may not correct
the misbehaviour of the executive due to an incorrect signal. We show that
in this case the parliamentary system may outperform the presidential one
and select the efficient policy with higher probability.

Our work is related, as mentioned above, to the literature that links con-
stitutional design and economic policy that began with Persson and Tabellini
[2002, 2005] and to the literature on incentives in political economy (see for
example Besley [2007]). Like them we fit in what Elgie [2005] calls the "third
wave" of studies that have addressed the relative merits of presidential and
parliamentary systems.

More precisely, the idea that a good way to judge a political system is
its ability to select the efficient policy comes from Besley and Coate [1998],
where, in a different setup, they identify a political failure as the inabil-
ity to undertake a potentially Pareto improving public investment with the
available policy instrument.

Another related work is Diermeier and Vlaicu [2011] who study how
constitutional features influence political behaviour in terms of legislative
success (passing of bills proposed by the executive) and they show that the
confidence vote (that may send everybody home) is the critical feature that
may explain the different performance of a parliamentary and presidential
system in terms of legislative success. Also Becher [2012| believes that dif-
ferences in executive-legislative institutions shape the policymaking capacity
of the two systems and identifies the dissolution power of the executive in
the parliamentary framework as the force that leads to higher spending in
parliamentary systems versus presidential ones.

Our hierarchical agency structure is related to the one in Vlaicu [2008]
and Vlaicu and Whalley [2013] where they study accountability in govern-
ment under different hierarchical controls without comparing different con-
stitutions. Also in their models politicians have private information about
their type and voters and other politicians update their beliefs by observing
their institutional activities.

The structure of the papers is as follows: Section 2 describes the ele-
ments of the model, Sections 3 presents the equilibrium analysis, Section
4 contains an example where the assembly is not fully informed, Section 5

briefly concludes. All proofs are in the Appendix.



2 The model

We introduce a political economy framework of policy formation resulting
from the interplay between an executive and a legislative body. In order to
compare the two institutional setups, i.e. a presidential and a parliamen-
tary system, we present the following two-period structure in which voters

(passive) and politicians face an uncertain policy environment.

Policy environment. We assume a two-period model in which every pe-
riod t = 1,2 is characterised by a state of the world s; € {s4,sp}. States are
equally likely, in that P[s; = s3] = § for k = A, B, and ¢t = 1,2, and indepen-
dently distributed across periods. In every period a public good ¢; € {A, B}
has to be produced where we assume that good A costs ¢4 € (0,1) and we
normalize the cost of B to zero. In every period the amount of resources the
executive can use either for the production of the public good or for private
consumption is one.

The policy is determined by the behaviour of the executive and the par-
liament: The executive proposes a policy gf € {A, B} and the parliament
votes on it. If the parliament rejects the proposal a status-quo policy ¢° = A

is implemented.!

Voters. In this context voters are passive players in that we do not model
the voting stage. Hence, the electorate is composed by N homogeneous vot-
ers; with a slight abuse of notation we define the per-period utility u(g¢, s)
such that for every t = 1,2 and k = A, B:

u(ge, sg) =
gt: 5k 0, otherwise.

Hence, the efficient policy is ¢* (s;), where:

“(s1) A, ifsg=s4
S =
g B, if s; =sp.

We assume that voters perfectly observe s; only at the end of period one.

'We focus on ¢° = A because this is the most interesting case, as A is the costly good.



Executive. The executive body cares about rents, which in our framework
are given by the amount of resources not invested in the public good (i.e.
1 —¢g,) and may also care directly about the implemented policy. Following
the political economy literature let us define the executive policy-oriented
if he cares about the implemented policy, and office-oriented if not. Be-
ing policy/office-oriented is private information. To be more specific, the
executive is characterized by a privately observed type 6¢ € {0,1} where
¢ = 1 means a policy-oriented executive. We denote the probability of
being policy-oriented P[#¢ = 1] = ~.

The executive’s utility function is:
U =1—cqg +0%g1,s1) +7 (1 — gy + 0°U(g2, 52) + 5@%) .

where u(g¢, s¢) is the per-period utility from policy experienced in case
the executive is policy-oriented. The interpretation is that the executive
cares about the policy, if 8¢ = 1, exactly in the same way as voters do. The
second part of the utility is weighted by the probability of being in power in
period two, 7. Let 6° be the ex-post voters’ belief on the probability that the
executive is policy-oriented, and let € € [0, c4]. The term 6° represents in a
reduced form the executive’s concerns about future elections. Intuitively, the
parametric assumption on ¢ ensures that, in period two, a policy-oriented
executive cares more about the implemented policy than about his final
reputation.

The executive observes the state of the world in every period.

Parliament. The legislative body has to approve or reject the executive’s
policy proposal in each period. The parliament is composed of L (odd) legis-
lators, I = 1,..., L. Analogously to the executive body, every legislators can
be policy- or office-oriented and this characteristic is his private information.
Hence, each legislator privately observes his type 6! € {0,1} where 6! =
means a policy-oriented legislator. The probability of being policy-oriented is
P[#! = 1] = 7, and types are independent across members. We are therefore
assuming that both executive and legislative posts are filled with politicians
drawn from the same pool.

The utility function of legislator [ is:

U' = (1= 6)R+ 0'u(gr, s1) + 7 (1= 0)R + 0'ulgn, 52) + 207,



where R > ¢ is the office-holding part of the legislator’s utility while u(gy, s¢)
is the policy component. Office-oriented legislators care about being in office,
and their rent does not depend on the implemented policy. Policy-oriented
legislators, instead, only draw utility from the implementation of the efficient
policy. The parametric assumption on R ensures that in the first period
the office-holding concerns are stronger than concerns for reputation for the
office-oriented legislators. Moreover, as before, 0P represents in a reduced
form the legislator’s concerns about future elections, where 6P is the ex-
post voters’ belief on the probability that the majority of the parliament is
policy-oriented.

Each legislator observes the state of the world in every period.

The institutional framework. Both systems are analyzed over two pe-
riods. In the presidential system at ¢ = 0 each player observes his private
type, at t = 1 the politicians observe the state of the world s;. Then the
executive makes a policy proposal and, if it is different from the status quo
policy, the parliament votes to accept or reject it. Notice that if gf = ¢ = A
then voting over the proposal is irrelevant. At the end of period one, vot-
ers observe the state of the world s; and, given the implemented policy g1,
they update their beliefs on the type of the executive and on the type of the
parliament. In period two politicians observe so and jointly determine the
policy, as described in period one. Voters, who do not observe so, update
their beliefs on the executive and the parliament given gs.

In the parliamentary system at ¢ = 0 each player observes his private
type, at t = 1 the politicians observe the state of the world s;. Then the
executive makes a policy proposal and, if it is different from the status quo
policy, the parliament votes to accept or reject it. If the policy is rejected a
new executive (E) and a new parliament (P) are elected. The new executive
and the new legislators are randomly drawn from the same pool of politi-
cians (with probability of being policy-oriented 7), and we assume that the
probability that either the old executive or a member of the old parliament
is reelected is 0. Hence in the parliamentary system, contrary to the pres-
idential one, voters may also infer the policy proposal of the executive, i.e.
g%. At the end of period one, voters observe s; and update their beliefs given
g5 and g1. In period two politicians (also in case of reelected bodies) observe

so and jointly determine the policy, as described in period one. Voters, who



do not observe sg, update their beliefs on the executive and the parliament
given g5 and go.
Given the described structures, we notice that m = 1 for the presidential

system and m < 1 for the parliamentary system.
Figure 1: The Presidential system
0',6° 9t=0

FE and P observe s1 ¢t=1

g Pi:
V observes s1 N> A

E and P observe sy ¢t =2

Figure 2: The Parliamentary system
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3 Equilibrium analysis

3.1 The presidential system

The main constitutional feature of the presidential system is that, given the
absence of a confidence vote, the executive and the parliament hold office
in both periods. This characteristic has interesting consequences for both
bodies. The executive is not disciplined by the threat of a new election,
hence office-oriented politicians offer the costless policy in both periods. In-
terestingly, the parliament, that does not control the executive through the
confidence vote, induces the selection of the efficient policy outcome as a re-
sponse to the following incentive scheme. On one hand, policy-oriented leg-
islators maximise their utility by voting for the efficient policy. On the other
hand, office-motivated legislators, whose utility function is U’ = 2R + 85”,
have the same behaviour because they maximise the final reputation of the

parliament. We summarize this intuition in the following proposition:

Proposition 1 In the presidential system we have the following pure-strategy

equalibrium:
o Fach legislator approves B iff sy = sp;

o Both types of executive propose B if sy = sp and they are indifferent

between any policy proposal if sy = sa.

Notice that even if we do not have uniqueness of the equilibrium strate-
gies, we have uniqueness of the equilibrium outcome. As already mentioned,
even in this simple framework, the parliament (who does not have the disci-
plining power given by the confidence vote) corrects any misbehaviour of
the executive by voting against inefficient proposals. The power of the
parliament in this context derives from: the undistorted incentive scheme
legislators face; the ability to ascertain the efficient policy (remember that
politicians observe the state of the world unlike the voters); the nature of the
status quo policy, which contrasts the interests of the office-oriented execu-

tive.? Both types of executive are indifferent between offering the efficient

2Notice that we assumed ¢° = A. If we instead assumed ¢° = B the presidential and
the parliamentary systems deliver the same results, i.e. policy oriented executive would
offer g*(s¢), the office-oriented executive would offer B, and the parliament would vote

only when A is proposed.



policy g*(s¢) or B. This behaviour arises from two features of our framework:
first, legislators vote for the efficient policy (as explained above); second, vot-
ers only observe the implemented policy. As a consequence the executive is
indifferent between any policy proposal when s; = s4 as the implemented
policy is A.

The above proposition has a striking effect on the welfare analysis. The
efficient policy is implemented in every period and in every state of the world.

Hence, the average probability of doing the right thing is one.

3.2 The parliamentary system

The parliamentary system differs from the presidential one in two consti-
tutional features: in the first period policies are confidence-dependent and
voters observe both the proposed and the implemented policy in every pe-
riod. These characteristics shape the incentive schemes the executive and
the parliament face. The parliament now has the disciplining power deriv-
ing from the confidence vote. However, this power comes at the cost of a
distortion in the legislators’ first-period incentives. As a matter of fact the
confidence vote affects also the probability that the parliament remains in
office in the second period. For the sake of simplicity we assume that both
bodies face reelection in case the executive policy proposal does not pass the
vote in parliament. Nevertheless, our results hold also in case this happens
with a positive, but small, probability. Policy-oriented legislators maximise
their utility by voting for the efficient policy in both periods. Office-oriented
legislators react to the uncertainty above described by approving any policy
the executive proposes in the first period. In the second period this effect
vanishes hence office-oriented legislators behave efficiently. The aggregate
behaviour of the parliament depends on the type of the legislators, i.e. if the
majority is policy- or office-oriented. We denote by I' the probability that

the majority of the assembly is policy-oriented, where
/L
I — k(] ~\L—k
> (p)ra-w
e=L5 41

In this constitutional framework, the executive may face a trade-off be-
tween implementing the desired policy and remaining in power. Such a

trade-off is a function of the cost of A and of the quality of the parliament
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I". The following proposition shows the equilibrium behaviours in function

of the mentioned parameters:

Proposition 2 In the parliamentary system policy-oriented legislators ap-
prove B iff sy = sp in every period, office-oriented legislators approve B
always in the first period and iff sy = sp in the second period; the executive

behaves according to the following two pure-strategy equilibria:

-Equilibrium 1: a policy-oriented executive proposes the efficient policy, an

office-oriented executive proposes B in the first period and the efficient

2(e+T) |
2-I' »

policy in the second period if c4 >

-Equilibrium 2: both types of executive propose the efficient policy in the
first and in the second period if c4 < %

The above proposition shows that the parliamentary system performs
like the presidential one when the cost of implementing policy A is not too
high, as in both systems the average probability of doing the right thing is
one. Notice that in the first period this derives from the efficient behaviour
of the executive despite an inefficient behaviour of the parliament (contrary
to the presidential system). When the cost of implementing policy A is high
enough instead, both bodies behave inefficiently in the first period (for the
reasons above explained) hence the average probability of doing the right
thing is 2 + L + 3 (1 — I') which is smaller than one.

3.3 Comparison between the two systems

The presidential system in our framework achieves the first best, in that it
always induces the implementation of the efficient policy. In this respect,
the presidential system outperforms the parliamentary one, that achieves
the first best only when the cost of implementing policy A is not too high.
However, the two constitutional setups operate in a complementary way in
shaping the politicians’ incentive schemes.

The strength of the presidential system is that it provides an undistorted
incentive scheme to the parliament. When legislators are perfectly informed,
this implies that the parliament corrects any possible misbehaviour of an
office-oriented executive.

On the other side, the parliamentary system is effective in improving the

performance of the executive, both through a disciplining and a selection
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effect. When the first type of equilibrium arises, the quality of the proposed
policy in the first period is the same as in the presidential system, as an office-
oriented executive proposes B in every state of the world. However, office-
oriented executives are voted out of office more often than policy-oriented
ones, hence the selection of the executive improves the quality of the proposed
policy in the second period. If instead the cost of production of policy
A is low, the parliamentary system has a disciplining effect on the first
period behaviour of the executive, which implies that every type of executive
proposes the efficient policy in the first period.

To understand how these effects influence the policy determination pro-
cess, we now consider two parametric examples. In both examples we con-

sider the case in which there is an equal probability that politicians are
3
assumption, in the presidential system the executive proposes the efficient

policy- or office-oriented (i.e. v = 5, which also implies I' = %) Under this

policy with probability at least % in every period; the implemented policy is

always the efficient one because the parliament always votes against B when

st = sa; finally, the probability that the executive is policy-oriented is % in

every period. We now analyse the implications of the parliamentary system

in a case of high cost of production of A and in a case of low cost. In both

cases we assume € = Tlo

Example 1 (high cost). Let us first consider the case in which ¢4 = &

10
2(e+T g . .
% = %, hence Equilibrium 1 arises in the parliamen-

tary system. As a consequence, the probability that the executive proposes

In this case ¢y >

the efficient policy in the first period is i, as in the presidential system.
The parliament, however, votes against B when s; = s4 only with prob-
ability %, i.e. when the majority of the legislators are policy-oriented, so
the probability that the efficient policy is implemented in the first period is
% < 1. Whenever the parliament votes against B, new elections are called
for both bodies, and the newly elected politicians are policy-oriented with
probability % Hence, the probability that the executive is policy-oriented in
the second period is % > %, due to this selection effect. In the second period
the probability that the efficient policy is proposed is therefore %. In this
aspect the parliamentary system outperforms the presidential one, due to
the better average quality of the executive. In any case the parliament votes
against an inefficient proposal with probability one, so the efficient policy

is implemented in the second period. The average probability of doing the

12



right thing is therefore % < 1.

Example 2 (low cost). Let us now consider the case in which
cA = 1% < % = % In this case Equilibrium 2 arises in the parlia-
mentary system. As a consequence, every type of executive proposes the
efficient policy in the first period, so that the efficient policy is implemented
with probability one. Notice that this is due to a well behaved executive
which is disciplined by the threat of a negative confidence vote; in this way,
the parliament is never active, and the distorted incentive schemes that leg-
islators face do not influence the policy determination process. As the same
executive remains in power for both periods, the probability that the ex-
ecutive is policy-oriented in the second period is % This implies that in
the second period the efficient policy is proposed with probability %. How-
ever, the parliament corrects any misbehaviour in the second period, and the

efficient policy is implemented with probability one.

4 An example with asymmetric information on the
state of the world.

The examples introduced at the end of the previous section highlight the
strengths and weaknesses of the two constitutional systems. As long as legis-
lators are fully informed on the state of the world, the presidential system al-
ways induces the efficient policy due to the behaviour of the well-functioning
and well-informed parliament. Hence, the parliamentary system can at most
match its performance. If we relax the assumption that legislators observe
s¢, however, the presidential system fails to achieve first best, and further in-
vestigation is needed to understand which constitutional system is the most
efficient one. In this section we show an example in which the parliamen-
tary system outperforms the presidential one when the parliament does not

perfectly observe the state of the world.
We assume that each legislator receives a common signal oy on the state

2

of the world; the signal has precision £ and it is observed in each period

before voting on the executive’s policy proposal. Formally the signal is as

13



follows:

s4 with probability %, .

o = _ 7 s =sa
sp with probability 35
sp with probability %, .

o = ] .1 ifst=sp.
s4 with probability 3

Legislators (and voters) perfectly observe s; before the beginning of pe-
riod 2, hence legislators update their belief on the executive’s type based on

the true realization of the state of the world.

As in the previous examples we keep the assumption that v = % (which
implies T' = % for any size of the assembly), and ¢ = %; we allow cq € [%, 1),

which includes both specifications of the previous examples.

4.1 Presidential system

The introduction of asymmetric information on the state of the world does
not change the structure of the equilibrium in the presidential system. How-
ever, legislators, who do not observe s, behave in function of the precision of
their signal. Given such precision, and the executive’s equilibrium strategies,
legislators find optimal to follow the signal (when it contrasts with the policy
proposal) whenever the probability that the executive is policy-oriented is
at most %,
is larger than % This implies that legislators may vote in a different way in

and to approve the proposal in any case when such probability

the first and in the second period. In the first period, given our parametric
specification, they follow their signal. In the second period their behaviour
depends on the belief 47 that legislators hold at the beginning of the second
period. In particular, if the executive has signalled himself as policy-oriented
(AP = 1), legislators approve his proposal regardless of o5.

The following proposition describes the equilibrium behaviour.

Proposition 3 In the presidential system with asymmetric information, given
the assumed parametric specification, we have the following pure-strategy

equilibrium.:

- policy- and office-oriented legislators reject B in the first period when o1 =
sa, and they reject B in the second period when oo = sz and (g5, s1) #
(A7 SA) .

14



- a policy-oriented executive proposes gf (st,1) = g* (s¢), for every period
t=1,2;

- an office-oriented executive proposes gi (s¢,0) = B, for every period t =
1,2.

In this context the presidential system fails to achieve the first best, as
legislators do not observe the state of the world but only an imprecise signal
about s;. As a consequence, the parliament, who still faces undistorted in-
centives, is not as effective as before in correcting the potential misbehaviour

of office-oriented executives.

4.2 Parliamentary system

The introduction of asymmetric information on the state of the world reduces
the legislators’ understanding of the nature of the efficient policy also in the
parliamentary system. In presence of the confidence vote this implies that,
contrary to what we had before, a policy-oriented executive may be replaced
if he proposes B when the state is sp due to an incorrect signal o1. However,
the parliamentary system still displays a positive selection effect, as office-
oriented politicians are more likely to be replaced at the end of the first
period, and, as a consequence, the average quality of the executive in the
second period is higher than .

The equilibrium structure changes in two main aspects. First of all, the
second period of the parliamentary system leads to the same equilibrium
strategies as the presidential one. The main difference, however, rests in
the first period behaviour. As a matter of fact an equilibrium analogous to
Equilibrium 1 of Proposition 2 does not exist if policy-oriented legislators
play pure-strategies. Office-oriented executives find optimal to propose B
always only if the probability that policy-oriented legislators reject it (when
o1 = S4) is smaller than one. Notice that Equilibrium 2 of Proposition 2
does not exist anymore.

The following proposition describes the structure of the equilibrium.

Proposition 4 In the parliamentary system with asymmetric information,

given the assumed parametric specification, we have the following equilibrium.:

- policy-oriented legislators reject B in period 1 when o1 = sa with probabil-

15¢c4—3 .
5¢ca+107

ity x =

15



office-oriented legislators always approve B in the first period;

policy- and office-oriented legislators in the second period approve B if

(s1,97) = (sa,A) and follow their signal otherwise;

a policy-oriented executive proposes g5 (s¢,1) = g* (s¢), for every period
t=1,2;

an office-oriented executive proposes ¢ (s¢,0) = B, for every period t =
1,2.

4.3 Comparison of the two systems

Let us now compare the welfare, in terms of the expected probability of
implementing the efficient policy, in the two constitutional systems.
The presidential system has, in the first period, a probability of im-
plementing the efficient policy of
s _ 1.3 2 3

LTaT 3T
This is due to the fact that, whenever B is proposed, the parliament votes
according to its signal, o1, which is characterised by a precision of %; policy
A is instead proposed only when it is efficient, and the executive is policy-
oriented, which overall happens with probability %. In the second period
there is extra information due to the first period learning. If the first period
is characterized by (s1,gf) = (sa, A), which happens with probability %, the
legislators understand that the executive is policy-oriented and proposing
the efficient policy, and approve every policy proposal; if the first period
is (s1,9y) = (sB,B), which happens with probability %, the legislators do
not learn anything from the first period behaviour, and the probability of
implementing the efficient policy in the second period is again %; if the
first period delivered (si1,gf) = (sa, B) the legislators understand that the
executive is office-oriented and the expected probability of implementing
the efficient policy is % Hence, the overall probability of implementing the
efficient policy in the second period of the presidential system is
, 1 1 3 1 2 19
e e A R A S Te

pres

wy “+w

pres

The average probability of doing the right thing is therefore W#"** = —=L——=2— =

Z—;. Notice that the presidential system performs better in the second period

than in the first period, due to the learning process.
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The parliamentary system has, in the first period, a probability of

implementing the efficient policy of

1

port _ 1 1 12 1 +1*2+1*1*(1 ) 3
wy = —k -k T+ x| okt ok —x) | = .
47273 "2 23723 4

17y 2

This is due to the fact that when B is proposed, the parliament votes accord-
ing to its signal oy, with precision 2, only when the majority of its members
are policy-oriented, and approves B regardless of the realization of the sig-
nal otherwise. For this particular precision of the signal the parliamentary
system performs as the presidential one in the first period. In the second
period, there is extra information due to the first period learning, and a
higher probability that the executive is policy-oriented, due to the confi-
dence vote in the first period. If the first period delivered (s, gf) = (sa,A4),
which happens with probability %, the original executive is still in power
and recognized as policy-oriented, and the second period probability of im-
plementing the efficient policy is one. If the first period is characterized
by (s1,9f) = (sB, B), which happens with probability %, the second period
executive has a probability of being policy-oriented of %; this may happen
either because the first period executive is still in power (if the assembly ap-
proves B) or because there is a new executive. Regardless of the mechanism
in place, the probability of having a policy-oriented executive is %; hence,
the probability of implementing the efficient policy in the second period is %
Finally, if (s1,9¢%) = (sa, B) two things can happen: if the legislators reject
B, there is a new executive that is policy-oriented with probability %, and
the probability of implementing the efficient policy in the second period is
%; if the legislators approve B, they understand upon observing s; that the
executive is office-oriented and vote according to o9 in the second period,
hence the probability of implementing the efficient policy is % Overall the
probability of implementing the efficient policy in the second period of the

parliamentary system is

parl 1+ 1+1*1*2 3+1 1 1*2 *2 1 +19
wy = — —+-*x—x-—z|-F+-|l—-x-x|*x-=—x+ —.
2 4 2 4 2 3 /)4 4 2 3 3 144 24
The average probability of doing the right thing in the parliamentary system
: 1 _ 37
is WPt = 20 + 522
In this example the parliamentary system outperforms the presidential

one due to the selection effect that the confidence vote has in the first period.
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Note that the asymmetric information assumption reduces the perfor-
mance of both systems, as it worsens the ability of the parliament to ascer-
tain the nature of the efficient policy. This, however, has a stronger effect
on the presidential system which relies more heavily on the parliament to

implement the efficient policy.

5 Concluding remarks

This paper analyzes the incentive schemes generated by two constitutional
systems, a presidential and a parliamentary one, and their effects on the
implementation of efficient policies over time.

We identify two key differences between the systems: the presence of the
confidence vote and the observability of policy proposals in the parliamentary
system. We find that the strength of the presidential system is that it offers
undistorted incentives to legislators, thus inducing an efficient behaviour in
the parliament. The structure of the parliamentary system, on the other
hand, improves the quality of the proposed policy through a disciplining
effect, due to the threat of a negative confidence vote, and a selection effect,
as office-oriented executives are more likely to be replaced.

We prove that, when legislators are fully informed, the presidential sys-
tem outperforms the parliamentary one in that the efficient policy is im-
plemented in every state and in every period. The parliamentary system
instead achieves the first best only when the costly policy A is cheap, while
it fails to do so when the cost of A is high.

We show that the ranking between the constitutional systems may change
if we reduce the quality of the information that legislators receive. We pro-
vide an example in which the parliamentary system outperforms the presi-

dential one and we highlight the mechanisms that generate such a result.
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6 Appendix

Proof of Proposition 1. Legislators in the presidential system face
undistorted incentives. Policy-oriented legislators approve B only when it is
efficient, i.e. when s; = sg. As the vote of the parliament does not influence
who is in office in the second period, office-oriented legislators in both periods
maximise their utility by maximising the reputation of the parliament, i.e.
by mimicking the behaviour of the policy-oriented ones. As a consequence
the parliament approves B only when s; = sp.

In the second period if s; = s4 both types of executive are indifferent
between offering A and B, as in either case the parliament induces the imple-
mentation of A. If s; = sp both types offer B, which is approved, and nobody
gains by deviating to A because a policy-oriented executive would have both
a lower utility from the policy and lower rents, and an office-oriented would
have lower rents.

Given the second period behaviour the same considerations apply to the
first period strategies. No type can gain from deviating, because the assembly
votes in a way that the efficient policy is implemented and voters observe
only ¢¢, so no deviation can induce a gain in reputation. m

Proof of Proposition 2. The second period behaviour is the same
in the two equilibria. Legislators in the second period face the same undis-
torted incentives as in the presidential system, hence both types of legislators
approve B only when so = sp. Given the efficient behaviour of the assembly
what matters for the executive is the reputation; as voters in the parliamen-
tary system observe both the proposed and the implemented policy both
types of executive find optimal to propose the efficient policy g* (s¢).

In the first period the parliament faces a distorted incentive scheme. In
particular, while policy-oriented legislators find still optimal to vote for the
efficient policy (i.e. approve B only when s; = sp), office-oriented legislators
find optimal to approve any policy proposal so to be in power in period 2.

In the first period in Equilibrium 1 a policy-oriented executive never
gains from deviation, since there’s no gain in utility nor reputation. An
office-oriented executive could instead gain by deviating and offering A when

s¢ = s4; for this not to be a profitable deviation the following must hold:

1-Tca+(1-T) <1—;CA) +e(0)>1—ca+ <1—§CA> +e(1),
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2(e+T)
2-I"

In the first period in Equilibrium 2 a policy-oriented executive never

which is satisfied iff c4 >

gains from deviation, as again there’s no gain in utility nor reputation. An
office-oriented executive could instead gain by deviating and offering B when

s¢ = s4; for this not to be a profitable deviation the following must hold:

1 —cat <1—;(;A> te()>1—Tea+(1—T) (1—;@4) +2(0).

which is satisfied iff ¢4 < % [

Proof of Proposition 3. Let 4P be the updated belief that the
legislators have on the policy motivation of the executive at the beginning of
period two, and 4" the updated belief of the voters. Notice that AP is relevant
to determine the voting behaviour of the legislators in period 2, while 7" is
relevant to determine the executive’s reputation incentives. Moreover in the
presidential system the two beliefs may differ, given that 4? is an update of
v based on gf and s;, while 47 is an update of v based on ¢; and s1, and in
general g1 may differ from ¢{. Recall that we assume v = %

Second period. Notice that a policy-oriented legislator maximises his util-
ity by voting for what he believes to be the efficient policy given the
executive’s proposal and equilibrium strategy, while an office-oriented
legislator maximises his utility by behaving as a policy-oriented one
in order to maximise his end of period reputation. Given the second
period executive’s equilibrium behaviour, if the parliament observes
g5 = B and o9 = sp it approves B because the signal that the leg-
islators receive is compatible with the policy that is proposed by the
executive. If the parliament observes g5 = B and o2 = sg4, instead, it
computes Pr[sy = sp|g5 = B, 02 = s4] in order to decide on its vote.

Such probability, given the equilibrium strategies, is

Prlg5 = B,0o3 = salsy = sp| - Pr[ss =

sp|

Pr[ss = splgs = B,02 = s4] = Pr[g¢ = B, 09 = s4]
2 ) -

1—p r
1—73Pp 3 — 277

the parliament approves B after o9 = s4 iff Pr[sy = sp|g5 = B,02 =

sa] > %, which happens when A7 > % We assume that legislators
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follow their signal when indifferent. Based on the equilibrium strate-
gies, and on the voting behaviour of the parliament the beliefs of the

parliament at the beginning of period 2 are:

All the above beliefs are derived by Bayes’ rule, apart from A? (A, sp)
which is an out-of-equilibrium belief. We assume that the parliament
in this case holds passive beliefs (that also coincide with voters’ beliefs)

and does not update the executive’s reputation.

Voters’ beliefs are different from the legislators’ beliefs, as voters do not ob-
serve the policy proposal gf; hence, they condition to the implemented
policy g1. Based on the equilibrium strategies, and on the voting be-
haviour of the parliament the voters’ beliefs at the beginning of period

2 are:

Notice that 7Y (A,s4) < 1, as g1 = A could derive both from the
executive’s efficient behaviour and from a rejection by the parliament
of the executive’s inefficient proposal. On the other side, 7V (A, sg) = %
as the outcome is in this case interpreted as a mistaken rejection by

the parliament of the efficient policy proposed by the executive.

e Let’s consider first the incentives after s; = sp. In this case
AP = % so that legislators follow their signal when it is in contrast
with the executive’s policy proposal. Notice moreover that in this
situation 4 = 4%, The ex-post reputation after A is smaller than
1, because there are cases in which the executive proposes B and
B is not approved so that go = A can be observed even if the

executive is office-oriented. More precisely we have:

gy = a7 = Prlee = A =11Pr0. =1) . (2-p)F" 4
Pr[ee = 1‘92 —A] - PI‘[QQ :A] - 1_{_31) _p’/y\v = 7
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and the ex-post reputation after B is

Piff, = 1]gy = B] = P2 =Bl =1IPrl =1 _ 14

where Pr[f, = 1{go = A] > 3 > Pr[f. = 1|go = B], so that
observing the implemented policy A (B) increases (decreases) the
voters’ belief on the executive’s policy motivation with respect to
the belief 4V held at the beginning of the second period. Notice
that, given the precision of the signal received by the parliament,
the expected reputation from proposing B when the state is so =

sa is p2 + (1—p)2 = 22, while the expected reputation from

57

proposing B when the state is so = sp is p% +(1-p) % = %.
The strategies g5(s2,1) = ¢* (s) and ¢5(s2,0) = B constitute a
pure strategy NE if no type of executive has incentive to deviate.
A type 0° = 0 could deviate and choose g5(sa,0) = A. For this
not to be a profitable deviation it must be:

1- gCA—|—<€§ > 1—CA-|—<€%,

3 35 7

which is satisfied given that c4 > . The deviation to g5(sp,0) =
A is even less profitable, and hence is avoided by the same condi-
tion.
A policy-oriented type never deviates to g5(sa,1) = B as this
deviation decreases both the utility from policy implementation
and the final reputation. He could however deviate and choose
95(sB,1) = A. For this not to be a profitable deviation it must
be:

which is satisfied because of the assumption cq4 > €.

Let’s now consider the incentives after s; = s4 and gf = g1 = B.
In this case 7Y = 4P = 0 so the ex post reputation of the executive
is 0 regardless of the policy that is implemented in the second
period. As a consequence, the office-oriented executive has no
incentive to deviate from proposing B in every state. A policy-

oriented executive never proposes g{ = B when s1 = s4.

The more complex case to analyse is the case in which s; = s4 and
g1 = A, as voters are not able to observe whether the implementa-

tion of A originates from gf = A or ¢f = B, while the parliament
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can. As a consequence, 7V = %, while A € {0,1}. This may be

an issue, as the legislators’ behaviour differs according to their
belief on the executive’s type. Hence the ex-post reputations in

this case are

Pr[0. = 1]|go = A] = Prigs = A] =

Prlg = Alf. = 1]Pr[f. =1] 37° 3
1
2

Pr[f. = 1|go = B] = Prigs = B =

Prlgy = Bloo = 1 Prlde =1] _ 37" _ 3

2
Notice that none of the possible actions has an effect on the final
reputation. Hence, none of the executive’s types has an incentive
to deviate from their equilibrium strategies, as any possible de-
viation reduces the per-period utility without increasing the final

reputation.

First period In the first period a policy-oriented executive offers g§ (1,s4) =

A. As discussed above, this implies that the final reputation is % re-
gardless of the policy offered in period 2. A policy-oriented executive
could deviate and choose instead ¢f (1,s4) = B. For ¢{(1,s4) = B

not to be a profitable deviation the following must hold:

The above condition is always satisfied by assumption since cq < 1.

A policy-oriented executive could also deviate to gf (1,sp) = A. Both ac-
tions induce the same final reputation. Hence, there is no incentive to
deviate as the deviation reduces the per period utility without increas-

ing the final reputation.

An office-oriented executive could deviate and choose g¢f (0,54) = A. As
discussed above, this deviation implies a final reputation equal to %;
moreover, it implies 77 = 1 and the fact that the parliament approves
any policy proposal in the second period. The equilibrium strategy
95 (0,s4) = B, instead, implies a final reputation of % if the parlia-
ment rejects the first period policy proposal and a final reputation of
0 if it accepts it; hence, it implies an expected final reputation of %

Moreover, as 47 = 0, it implies that the parliament follows its own
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signal in the second period. For g¢f (1,s4) = A not to be a profitable

deviation the following must hold:

2—Zc +gg>2—§c —i—ézs
6 AT =T AT EE

The condition is satisfied given that cq4 > €.

An office oriented executive could also deviate by choosing ¢f (0,sp) = A.

As discussed above, when s1 = sg, both policy proposals induce 7 =
AP = % Hence, this is never a profitable deviation as it decreases the

per period profit without any benefit in the second period.

Proof of Proposition 4. 1In the parliamentary system both AP and Y

are updates of v based on ¢f and s;, hence 7V = AP. Recall that we assume

v = %, which in turn implies that it is equally likely that the majority of

the legislators are policy- or office-oriented (I' = 1/2). A policy-oriented

executive in equilibrium proposes gf (1,s¢) = g; (s¢) and an office-oriented

one proposes gf (0,s;) = B.

Policy-oriented legislators, in the first period, are indifferent between fol-

lowing their signal or approving every policy proposal. In equilibrium

they follow their signal with probability z = éi;{‘ﬁg Office-oriented
legislators approve every policy proposal. In the second period policy-
and office-oriented members of the parliament behave alike: if the ex-
ecutive reputation is 1 they always approve, if it is 0 or % they follow

their signal os.

Second period In the second period policy-oriented legislators maximise

their utility by voting for what they believe to be the efficient pol-
icy given the executive’s proposal and equilibrium strategy, and office-
oriented legislators maximise their utility by behaving as policy-oriented
ones, as in the second period of the presidential system. Given the
second period executive’s equilibrium behaviour, if the parliament ob-

serves g5 = B it approves B after o9 = s4 if AP > %

Given the equilibrium strategies, the updated reputation at the beginning
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of period 2, 3V =3P =7 is

:?(AﬂSA) :Pr(ee = 1‘9% =A, 5 = SA) =1,
Y (A,s5) =Pr(0. = 1|gf = A, 51 = s5) = 3,
7 (B,sa) =Pr(0°=1|gf = B,s1 = s4) =0,
¥ (B,sp) =Pr(0° = 1!gf = B,s) =sp) = %

All the above beliefs are computed via Bayes’ rule, with the exception
of 4 (A, sp) which is an out-of-equilibrium belief. We assume that in
this case voters and legislators hold passive beliefs, and do not update

the executive’s reputation.

o If s; = s4 a policy-oriented executive enters the second period
with a reputation ¥ = 1, and an office-oriented executive enters
the second period with a reputation 4 = 0. In either case, their
final reputation is 7. Hence an office-oriented executive finds op-
timal to propose g5 (0,s;) = B, and a policy-oriented executive
finds optimal to propose gf (1, s:) = g5 (s¢).

o If 51 = sp each type of executive enters the second period with
reputation ¥ = % If the executive proposes B the proposal can
be either accepted or rejected by the parliament. As voters ob-
serve both the proposed and the implemented policy, the ex-post

reputations are as follows:

Prlgs = B, g2 = B|f. = 1] Pr[¢° = 1]

Pr[0° = 1|95 = B,go = B] = Pr(g5 = B, g2 = B]

2k 2
T 1-Fv+F%p 5
Prlgs = B.gy = Alf. = 1] Prfor = 1]
Prlgs = B, g2 = A]

(1-p)7" 1

Pr[0® =1|g5 = B,go = A] =

G=pa"+ (-7 1
Prig§ = A|6. = 1] Pr[0° = 1]
Prlg5 = A
Notice that the expected reputation when proposing B if so = s4

Prjo® =1|g5 = A] = = 1.

is %i + %% = %, while the expected reputation when proposing
Bif sy = spis 31 + 22 = 5. The strategies g5(s2,1) = g* (s2)
and ¢5(s2,0) = B constitute a pure strategy NE if no type of

executive has incentive to deviate.
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An office-oriented executive could deviate and choose g§(s4,0) = A. For
this not to be a profitable deviation it must be:
1 2 + 5 >1 +
——cate— —ca+te
34T 0

which is satisfied given C?A > 3. An office-oriented executive could

also deviate and choose g5(sp,0) = A. For this not to be a profitable
deviation it must be:

1 7
1—— — >1 -
30A+5207 cA+e¢€

which is satisfied given 4 > 3.

A policy-oriented executive could deviate to g5 (1,sp) = A. For this not to

be a profitable deviation it must be:

o Ll el s +
- —=C — —ca+e
3 347" A

which is satisfied given 4 > 3.
A policy-oriented executive could also deviate to g5 (1,s4) = B. For this
not to be a profitable deviation it must be:

2 be>1- 2o qes
— C g — —C E—
ATE=273%T )

which is trivially satisfied given c4 < 1.

First period In the first period the condition R > € ensures that an office-
oriented legislator prefers to approve any policy in order to remain
in power in the second period. Policy-oriented legislators in the first
period, given the assumption on p and the equilibrium strategies, are

indifferent between approving or rejecting B when o1 = s4; in equi-

15¢c4—3
5c4+10

librium they reject B with probability z = if 01 = s4. Recall

that I' = %, given that v = %

A policy-oriented executive in equilibrium proposes g (1, s¢:) = ¢ (s¢) and

an office-oriented one proposes ¢f (0, s¢) = B.

An office-oriented executive could deviate and choose ¢f (0,sg) = A or
95 (0,54) = A, because this would ensure being in power in period 2.
He has the greatest incentive to deviate when s; = s because of the

higher probability rejection of B and the additional gain in reputation.
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For ¢§(0,s4) = A not to be a profitable deviation the following must
hold:

1
(1 —plzca) + (1 — pl'x) <1— QCA) >2—ca+e

that is satisfied as the mixing probability of the policy-oriented legisla-

15¢4—3
5¢cA+107

tors, x = is determined as to satisfy the above constraint with

equality.

A policy-oriented executive could deviate and choose gf (1, sp) = A. Notice
that 7 (A4, sg) = 5 = 7(B, sp), hence the second period differs only

in terms of the probability of reaching it. In particular the expected

% = %. The probability of being in

power in the second period is one if the executive proposes A and

. . 1 1
final reputation is 5 * 1 + 5 *

1 — (1 — p) I’z if the executive proposes B as he is voted out of office
only by a parliament with a majority of policy-oriented legislators and
an incorrect signal. Hence, for ¢f (1,sp) = A not to be a profitable

deviation the following must hold:

1+ —-(1=p)Tz)— (1 —p)Taca

Fa= =T (14 50— catp— (- pea) e )

1 27
> 1—CA+1-|-2<1—CA+p—(1—p)CA+E40>

15¢c4—3

5107 is satisfied for

which given our assumptions on ¢, and given x =

any possible value of c4.
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